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B) (ABLZEREYI AT EEDTEEDES(m) F) O LHRENEAT BB DT REZEDES(M) %i%wiﬁtfégfﬁi‘ﬂﬁ%%éf_ﬁ@?ﬁﬁ A TEHh aEETH A4 AT
(C) BB LB AAM00kN/mi LT O K DI BID 1 DB AEKN/ ni) (G) HEFEB A3 LT DRI D HFED DB AEKRN/m) EMBEEIHEEHRRLBEBHRIRHALR
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(A) (B) (©) (D) (E) F) (G) (H) (A) (B) () (D) (E) F) (G) (H)
(1) - - 98.7 1.0 - - 10.5 2.1 - - 98.7 1.0 - - 105 2.1
(2) 120.5 1.0 99.3 1.0 - - 11.8 2.3 120.5 1.0 96.9 1.0 - - 11.8 2.3
( 3) 131.3 1.0 99.5 1.0 - - 13.0 2.6 131.3 1.0 96.0 1.0 - - 13.0 2.6
( 4) 141.2 1.0 99.2 1.0 - - 13.6 2.7 141.2 1.0 96.9 1.0 - - 13.6 2.7
(5) 141.2 1.0 99.1 1.0 - - 13.3 2.6 141.2 1.0 96.5 1.0 - - 13.3 2.6
(6) - - 80.0 1.0 - - 9.2 1.8 - - 80.0 1.0 - - 9.2 1.8
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